Worksheet 4.4 Solving Rational Equations – Math 3

. Solving Kation	al Equations – Math 3
lve. Check for extraneous solutions.	
$3x + 2$ $x \neq 0, -2$	2. $\frac{8}{3x-2} = \frac{2}{x-1}$ $x \neq \frac{2}{3}, 1$
1(x+2) = H(3x)	8(x-1)=2(3x-2)
1(x + 4) = 4(3x) 1(x + 10) = 12x -9x	8x - 8 = 6x - 4
18 = 3x	-bx te
18= 3X 3 3 X=6	$\frac{-6x}{2x} = \frac{+8}{2}$
$x - x = x + 2$ $x \neq -5, -2$	4. $\frac{4(x-4)}{x^2 + 2x-8} = \frac{4}{x+4}$ $x \neq -4, 2$
(x+5) = (x-3)(x+2)	(x+4)(x-2)
$y^2 + 5x = x^2 - x - 6$	$4(x^{2}+2x-8) = 4(x-4)(x+4)$ (NO (She
5x = -x-6 tx	$4(x^{2}+2x-8) = 4(x^{2}-16)$
6x=6 6 6	$\begin{array}{c} H(x^{2}+2x-8) = H(x-4)(x+4) \\ H(x^{2}+2x-8) = H(x^{2}-16) \\ H(x^{2}+2x-8) = H(x^{2}-16) \\ H(x^{2}+2x-8) = x^{2}-16 \\ H(x^{2}-16) \\ H(x^{2}+2x-8) = x^{2}-16 \\ H(x^{2}-16) \\ H(x^{2}+2x-8) = x^{2}-16 \\ H(x^$
x =1)	2x+8=0 > 2(x+4)=07
$\frac{1}{(3x)} + \frac{1}{6x} = \frac{4}{3x} \begin{pmatrix} 2 \\ 2 \end{pmatrix} \qquad \qquad$	$\frac{(\chi+1)_{1}}{(\chi+1)_{2x}} + \frac{3(20)}{x+7(20)} - \frac{1}{x}(2)(\chi+1) \chi \neq 0, -7$
$\frac{4}{6x} + \frac{x}{6x} = \frac{8}{6x}$	0
	$\frac{X+7}{2x(x+7)} + \frac{6x}{2x(x+7)} = \frac{-2(x+7)}{2x(x+7)}$
4 + x = 8 -4 -4	x+7 + 6x = -2x - 14
X=4)	7x + 7 = -2x - 14
	$\frac{2}{2}$ $- \frac{1}{2}$
	1 - 4 a
	1. 21. TT
	$\frac{2X}{QX} + \frac{7}{7} - \frac{7}{7}$ $\frac{QX}{Q} = \frac{21}{Q}$ $X = \frac{21}{Q} = \frac{7}{3}$

7 -2+1316 -2-1316 $\frac{9}{10} 9 \begin{bmatrix} 7. \frac{5}{x^2 + x - 6} = \frac{2}{1} + \frac{(x - 3)(x + 3)}{x - 2} & \chi \neq -3, 2 \\ (\chi + 3)(\chi - 2) \end{bmatrix} = \frac{8. \frac{\chi 2}{x - 3} + \frac{1}{x} = \frac{x - 1(\chi)}{x - 3(\chi)} & \chi \neq 0, 3 \\ (\chi + 3)(\chi - 2) \end{bmatrix}$ $\frac{2x}{x(x-3)} + \frac{x-3}{x(x-3)} = \frac{x(x-1)}{x(x-3)}$ $\frac{5}{(x+3)(x-2)} = \frac{2(x+3)(x-2)_{+}(x-3)(x+3)}{(x+3)(x-2)}$ 11 $\frac{5}{(x+3)(x-2)} = \frac{2(x+3)(x-2)}{(x+3)(x-2)} + \frac{(x-3)}{(x+3)(x-2)} = \frac{2(x+3)(x-2)}{(x+3)(x-2)} + \frac{(x-3)}{(x+3)(x-2)} = \frac{2(x+3)(x-2)}{(x+3)(x-2)} + \frac{2(x-3)}{(x+3)(x-2)} = \frac{2(x+3)(x-2)}{(x+3)(x-2)} = \frac{2(x+3)(x-2)}{(x-3)(x-2)} = \frac{2(x+3)(x-2)}{(x-3)(x-2)} = \frac{2(x+3)(x-2)}{(x-3)(x-2)} = \frac{2(x+3)(x-2)}{(x-3)(x-2)} = \frac{2(x+3)(x-2)}{(x-3)(x-2)} = \frac{2(x+3)(x-2)}{(x-3)(x-2)} = \frac{2(x+3)(x-3)(x-2)}{(x-3)(x-3)(x-2)} = \frac{2(x+3)(x-3)(x-3)}{(x-3)(x-3)}$ $2x + x - 3 = x^2 - x$ $3x-3 = x^{2}-x$ -3x+3 $0 = x^{2}-4x+3$ (x-3(X-1) $5 = 3x^{2} + 2x - 21 = \frac{5}{2} = \frac{3.629}{2} = \frac{5}{2} = \frac{5}{2} = \frac{3.629}{2} = \frac{5}{2} = \frac{5$ x=3,1 10. $\frac{x+3}{x-3} + \frac{x}{x-5} = \frac{x+5}{x-5}$ $x \neq 3,5$ 9. $\frac{10}{x} + \frac{3}{1} = \frac{x+9}{x-4}$ $\chi \neq 0, 4$ $\frac{10(x-4)}{x(x-4)} + \frac{3x(x-4)}{x(x-4)} = \frac{x(x+4)}{x(x-4)}$ $\frac{(x+3)(x-5)}{(x-5)(x-3)} + \frac{x(x-3)}{(x-5)(x-3)} = \frac{(x+5)(x-3)}{(x-5)(x-3)}$ $\frac{10x-40+3x^2-12x}{-x} = \frac{x^2+9x}{-x^2}$ $\frac{-x}{-x^2}$ $\frac{10x-40+2x^2-12x}{-9x} = \frac{9x}{-x^2}$ $\chi^2 = 2\chi - 15 + \chi^2 = 3\chi = \chi^2 + 2\chi - 15$ 2x2-5x-15 = x2+2x-15 -x2-2x 18 -x2-2x 15 $2x^2 - 2x - 40 \neq 9x - 9x - 9x - 9x$ x2-7x = 0 $2x^{2}-11x-40=0$ X(x-7) = 0 $-(-11) \pm \sqrt{(-11)^2 - 4(2)(-40)}$ X=0, X-7=0 1x=7 2(2) $11 \pm \sqrt{121 + 320} = 11 \pm \sqrt{441}$ 4 $\frac{||\pm 2|}{4} = \frac{||+2|}{4} = \frac{8}{4}$ 11-21 -2.5